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MID-YEAR EXAM REVIEW

Pythagorean Theorem

1. Two ladders, 24 m and 20 m long, are

leaning against a building where a girl (G)

and a kitten (K) are located.

The foot of each ladder is 16 m from the

building.

How far is the girl from the kitten?

@ GR = 17.36-1T = $:3% ~
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2. A pole that broke during the ice storm has
toppled behind Lisa's house. To find the T
original height of the pole, Lisa measures q'?’q

the height of the pole that remains upright
and the distance between the base of the

pole and the top of it, as shown on the

right. <+4
Find the original height of the pole.

————

h- 35 raza= 1384m




306_MidYearExamREVIEW (55) solutions January 25, 2018

MID-YEAR EXAM REVIEW

3. AKkite is made up of 2 triangles. One is an
equilateral triangle whose side measures 25
cm. The other is an isosceles triangle whose
congruent sides measure 40 cm.

What is the total area of the kite?

—

C

129
c

C2163(25). el
A= z

2
[\t . 14563 cm
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4. Both a chair lift and a gondola are used to transport skiers to the top of a ski hill.

The length of the gondola cable is twice the length of the chair lift cable.

gondola cable
chair lift cable

500 m

If the gondola travels at 5 m per second, how long will the gondola ride take?

@ C,"\G\('- - (p"'D;v\ @ Gor\&' - Z/CQ‘IO)

= V2 9o

G 1280 =+ 250 sec
S
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5. What is the length of DC ? A

50 cm

30 cm

C.: 40

Ho-\9: 25 e
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Area/\olume
6. Karen is painting the outside of her \; r\S‘A

birdhouse. She needs to calculate how

much paint is needed. The birdhouse T Q

6 cm

has a square base. —

« The shaded hole has a diameter of 6 cm. W2 30¢cm O
('/ ‘£ - 3(‘\'\

' v
What is the total surface area of her 1 tﬂ/\//\
birdhouse? 20 cm 20 cm

® . 2A By ®
ﬂ1 b - A - Y, h .
Z(Zo\ Y 2 HLLO)C3°7 = 40 e

00 v LMo O

. 3ro0cet @ AW‘—’R’fZ
: L®.2b

- 5200 - 1®-lb
® N, -
= D\l I e
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7. The total area of a square prism whose ,
base measures 6 cm a side is 312 cm?2. /
!

What is the height of the prism?

GT - 2\t 1
(RN o
212 - 2(e)" ¥ 4l Q.f"b“
212 - 37?/* b

-3l Al

2o - 24

zJ.\\o-,\f\ => lw
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8. Atankis in the shape of a right cylinder whose height is 20 m. The tank can hold
6280KL of oil. What is the length of the diameter of this tank?

3
) V'— (p?_i’)o\cL - @l doMm
- ® Vo Aot

. wet ()

(280
— 20

20

2\4 =1£1' Q) A- 2 (1)

/T‘I r?i'
A:ZO"'\
Jioo N* Q

\o -1

"
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9. Julie bought a 2.4-litre box of laundry detergent. The box is in the shape of a
rectangular prism in which the base measures 15 cm by 10 cm.
When she got home, she emptied the contents of the box into cylindrical containers,
10 cm in diameter. The containers are half the height of the box. How many

containers will she need to use?

3
® zML - 2460 ~\ = M0C e

: @ VC\SI"‘

\©

\s ZL\DO - \‘3(\07\“
® 1900 = \soh
b D yso ISP
v \(a - k
_—
\ \o
\/ ﬁ W @ 2400 . 3872 Y
< |—' Y (PYAS)
D < r\_\(lh

PR Aaneanes
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10.An engineer is trying to determine the

heating and air conditioning needs of a 48m

building in the shape of a right triangular T

prism. '

The building has a volume of 32 640 m3. h '

Itis 17 storeys high. i

a) What is the distance, in metres, /"“\"\‘?).\
between each storey?

b) What is the lateral area of this
building?
gn A
atib = C

C
>0 b\wzh ot 3 Yp- = 5t

Q’L 4 Z}Z"\ - ‘Z_q’o\‘

¢ — oM ~ 130N
@ Nyeo
C ° 10

o N - Byh

EYAN! “NLLO)\,\ ® \7\5\‘0-0'\(& z _‘9_§ - Ya
o =
[

\3

V2lMo - Ysoh

Yeo %o
Wd - h
b\ ﬂ_‘ = ZQD A ﬁb

Y

2 (86 4 (usasud ) (e3)

1
Guo 4 B0 = ANTm
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Inequalities

11.Solve the following inequalities. Express the solution set using interval
notation. _
a)2x+9<3x-5 [\"\, Voo

2x R & ?L -S
-3 - pot

_ll 1 < -9
4

—

-1y 0 Iy

—_— —l

N

x>/l“\

11
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J-o0, 1L

‘R )
b) =3(x = 5) > 4x + 1

~Tx A0S D YHXH ~

+4&+

_-l‘g_
4 -

—-H’X, _\g /le "\b
~I 27 -\
- 3 L
x & ¢
3~o¢ ,2[

12
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o 2%+ 1> 583 13,421

_ZX—l‘\ > )0 ‘Z’i
Alox Ahox

2x —If 7 \O <
A N
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d) 3x + 12 —4x + 22 C3, YoU

3x+\ > —l:f*\'ll
P wfax

AN

'_]1 A >/ s
-\ -\

/—\1. 7 E_

= ot
x> 5

14
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W
12.Michael is a car salesman. His annual salary is $25,000. He receives an additional

2,500 commission for each car he sells. Determine the minimum number of cars
(Lo(,, Michael must sell in a year in order for his salary to exceed $55,000.

2500x ¥ 1s0po > D500

_ Ls 00 —qub
K800 X ? 5_9%“1 T’\\(}\QC\ oo ¥
T e 2500
2500 g \; el\ enore Mcn
L

\Z o5

15
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13.The company Chatz is offering $20 a month plus $0.10 per minute. The company
TalkPlus is offering $0.25 per minute with no monthly fee. After how many minutes

is it more expensive to use TalkPlus than to use a Chatz cell phone?
Xt 8 tanute?

Chey 2 O-10€ Y20

Telkllose ©-5x

C;'ZS)L>O" x t¢20

—0 hox
—o.10% ©

o.15x 2 2o
0.\5 @3

x > 13323

\Q\\Q?\‘b 1S Yol ex‘ens\\/c

QC"_Qf 139~

16
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14.EcoAuto charges a flat fee of $32 plus $0.15 for every kilometre. TwentyTwenty
charges a flat fee of $20 plus $0.20 for every kilometre. What is the minimum
number of kilometres that you must travel in order for it to be advantageous to
rent a car from EcoAuto?

x. ¥ ke

_ <O WPx W0
- ) 32 O.lsL ¥ SO
Lo PoYo » 015X+ cgon ot

1, . 20X kLo
\enly ©-¢ — 008 % ‘ZIZ £

—_p.0%X < _,\Z__

-6.07 -0.0%
240 k *x 2 4o

17
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15.During a drought, a 2000-L concrete holding tank loses 48L of water per day as a
result of evaporation. The tank cannot contain less than 1200L of water, otherwise it
might crack. What is the maximum number of days that the drought can last

without damaging the tank?

X ﬂdc..‘)s
2000 — 48% 2 1200
- oo - 20o0®
~Yox ¥ - 800 16 dcnj
- 4% -48
x € lo- 6}

18
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Linear Functions y

it burns. What is the rate of change associated with

this relation?

1t ‘9\ x \)'L
C o, q) (oo ,0)
Lol = D=2 on#nS
11, -l\ 3‘30 -0 BOO

Height of a Candle
h

-

—

s

19
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17.The flea market had been open for 8
Number of \\f
hours. Write an equation which T-shirts JLL/
expresses the number y of T-shirts 200~
left after x hours. 150\
3, x, Y 100 . [ |
® (o ‘?,oo> (%, loO) 50 1 i
t -
6 8
Hours

20
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18.A swimming pool already has 5000 litres of water in it. It is being refilled at the

rate of 750 litres an hour. Complete the table of values:
| Time (hours) 0
Quantity of water (litres)

l 3 12 \s X
$600 5750 7250 14000 16 250

S

% = 35X 5000

g

5 . 2A50% + §o00 Q) ’}_Zs‘o = FSox ¥ §/000
-900v — Q002

@ 5150 = 3Sox \—S’y?bo 2150 = }SOX

— 5O® —%Hosd 150 5D

-}SD -,’}S’b’?c = x

SO S©
A R @ Yy - ’-\ﬂ(\’b) + Yo
Voo
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19. A cross-country ski club offers skiers two payment options.
Option 1: An annual membership fee of $30 and a $5 fee for each day skiing on
the trail. \:/P 1\'{0(.
Option 2: No annual membership fee, but a set fee for each day skiing on the trail.
Andy, who chose the first payment option, paid $105 for the season. Sonia chose
the second option. She skied as many days as Andy did, and paid the same

amount. What is the set price per day with the second payment option?

% - Mdoss
(%A\:)(D‘)‘r l} j__ 5-7- + 30
log = Sx ¥ 3[: (ovn) f) <G

Some © |5 days ¥ jos

e - los = &03)
Iy = SX = 'S

S g 3 -C

15 = /\\'\L se¥ Yf\c—& CO( GF‘ ¢
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20.A landscape gardener charges a fixed amount for travel plus an hourly rate for any
work done.

D b
Monday he worked 5 hours and earned $90.50.
Tuesday he worked 8 hours and earned $134.00.

If he works 6 hours on Wednesday, how much will he earn?

p -l'l l’\ouls
D . § eorned
D4 \5‘ Xo ‘)1
0 (Tamed (3,

o - V)'z'_“ = Mb= L—‘Lsib = H'Sb

x'L—?L‘ 6“{ 3

@) b;ax ¥ ® >__ I{Sbx + 18

134 = 1450 (2) 3 b SECCRAL

1

VY - "{4 +b SR -RERAL
— W\ - e - $ros
) [ S—
-b —
1% \\_\Q N eccn % |05 o
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21.The graph represents the cost of ordering T-shirts '{:}m : ;‘;;’t
from a printing company. A delivery fee of $25 is 225
— 200
included in the cost. ‘\/ 175
How much does it cost to purchase 125 :gg
T-shirts from this company? 100
x P N4 N N B B
N v MpAREREER
OZS |°,‘°° 2% |
0 5 10152025303540
_ _ -29 _ Number of T-shirts
© G=9 " 102 .38 34,
_— -9 \0O
p ey _)‘\ 16
©) - ).50%x + 25

_—_150(\1‘7) +135
- Agd 5 T
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22.The members of a certain tennis club have to buy an annual membership card. In
addition, they must pay a fixed hourly rate to rent a tennis court.
Paul, Kelly, and Lana all belong to this club. Paul spent $47 for his membership
card and 20 hours of court time. Kelly paid $106.80 for her membership card and 72
hours of court time.

How much will it cost Lana for her membership card and 45 hours of court

time? o ﬁkours

Y Cost
(;:,E;ﬂ (?2, lg?:-‘w\
® o= D) | joeRe tMl L gGso . |4
XL Ry J1 - Lo S
o \3-_\.\51.\\9 D \):\'lsx*u

_ Yw) + N
= Ls() +b = Lis
)as 4

'-nzlf“a
b _fasas

™ -b

v
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23.The weekly salaries of three workers are calculated as follows:
Alan's salary S=22h+100

where S: weekly salary in $
Josée's salary

h: number of hours of work
A basic salary of $80, plus $18 per hour
Jack's salary

Time (hours) 0 10 20 30 40
Salary ($) 0 200 | 400

600 | 800
One week, Alan worked 40 hours. Josée and Jack earned the same amount of
money as Alan did that week.

How many more hours did Josée work than Jack that particular week?
® Nan:

S = (o) ¥ voo 300

D Movee: S Itk v 20

B bkt o Lemm

. o220
Yo -© W

. Jgh 4

?S: I3 _i S = Z,o\'\

qoo = 1dh Qoo = zeh

® 3 26 Lo

50 :lf\ ‘-lq :ln

@ o= | \our

M(\LCA \ e ™o reMhcn SLC\Q
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